‘%ﬁﬁkmb(e-nedzi.com) ‘

Hexagon Socket Flange Head Screw Plug with Oil Seal e-nedzi.com’
SPN-L ssvomzrmngzzova-7s57 Y.
@ BEFE @ CAD Download
+ @ [ o v
x £ o
/ E = W
D1
AAWY—IL . N
® SMEMLFDRIV1—F5T,
I = o X—hUHIBRUEERTFITRUERESL.,
I — - o ERTAERE 1 100C —
® Hik
M3 G (PF) SHFERESS / T2 FERSS / — ARSI
=) . PO \/E | T — o
® SEETE ez @ upzaws I NBKRyhyayT o Bt LT O rorisrae
SPN-M16-L sonL 8
| SUM22L
w =il X — MR
FAIWT—=Ib NBR (£)
N X — M UEEL - ERAETEERE 1 100C Y
Shel
- wEs o L L p (EmmmEE memn  Foeecd L g
= ) (0 (MPa) - AU
(N-m)
SPN-M10-L 250 M10X1 14 |4 8 |5 100 40 10 8 1
SPN-M12-L 310 M12x15 17 5 12 | 6 100 40 20 14 1
SPN-M14-L 340 M14x15 19 |5 12 | 6 100 40 30 20 1
SPN-M16-L 410 M16x15 22 |5 12 | 8 100 40 34 25 1
SPN-M18-L 450 M18x15 24 5 12 | 8 100 40 42 30 1
SPN-M22-L 610 M22x1.5 27 |5 14 10 100 40 60 50 1
SPN-M27-L 870 M27x2 (32 |5 16 |12 100 40 85 80 1
SPN-M33-L 1,430 M33x2 40 65 (16 (17 100 40 130 130 1
SPN-M42-L 2,480 M42x2 50 65 (16 |22 100 25 240 210 1
SPN-M48-L 3410 M48x2 55 65 (16 24 100 25 280 260 1 —
*11 1RBEVOMEETY
EIEN 8AFHTRL - ERATEERRE : 100C P
Shrel
- @ig/®  GPR L p  EAEEEE  HSEN ﬁffw’j” 5 () 148
= (M) RUOEY (0 (MPa) T — AU
SPN-1-L 250 G1/8 14 |4 8 5 100 40 10 10 1
SPN-2-L 340 G1/4 19 5 12 6 [100 40 26 26 1
SPN-3-L 410 G3/8 2 5 12 8 100 40 34 34 1
SPN-4-L 590 G1/2 27 |5 |14 10 100 40 60 60 1 o
SPN-6-L 870 G3/4 32 5 |16 |12 100 40 85 85 1 n
SPN-8-L 1,430 G1 40 65 (16 17 100 40 130 130 1
SPN-10-L 2,610 G1-1/4 |50 65 |16 22 100 25 240 210 1
*1:! 1RBLIOMETT,
1 NSz = 2147 B JU—sE- JU—Via = P2145 WwRCHYE=P2149 B B3I = P.2150 [ BEERELEAIT = P.2151
FERE 1B/ RTT SR TEAT] XSAT] XSAT]

NBIKK sz/csvoas 0575-23-1162 info@nbk1560.com https://www.nbk1560.com 2022





